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K4= I(1-t) x 100 Kd = I(1-t) + (RV — NP)
NP — 100
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B. Cost of Preference Shares
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A company issues 11 per cent irred

i eemable f
100 each. Flotation : preference share
what is the kp, if pre(f:gféiczriheﬁlmateq at 5 per cent of these?(f;)ér;tee:la(szglgaltii e
and (iii) 5 per cent discount? (S;eAslsac';e Issued at (i) par value, (ii) 10 per cent grerrew}u(,-,a.,)
per cent dividend tax. » compute kp in these situations assuming 13.125

Solution

(a) (i) Issued at par (b) (i) !ssued at par
X, = Rs 11 — “ . Rs11(1.13125)=Rs1244_1:'31
Rs 100 (1- 0.05) " Rs 95 el
(i) Issued at premium (ii) Issued at premium
Rs 11 Rs12.44 -
% = Reti0(1-008) o - B TRsroes P
(iii) Issued at discount (i) Issued at discount
Lol =12.2 per cent K =—g§§-§=13.8percem

k, = —
“? " Rs95(1-0.05).
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ost of redeemable preference share capital

Dp+ I/N(MV = NP)

Kp= , + 100
' MV +NP)
Example: l
A company issued I 7 Llerence share of Rs 100 cach at a premium of 10%
- A . . . . \——f
redeemable after 3 at par. Compute the cost of preference capital.

= 7% - 7+ 1/5(100 - 110)

Dp= 7% of 100=7 Kp = / ‘ ¢ 100
N=5 12(100 + 110)
MV= 100 -

7+ 1/5(-10)]
NP= *10%= K) — ¥ 100

100+100*10%=110 | T
72
Kp=|—|*100
1105 g

Kp=5/105%100=4.7619%



Q_&Q;t_of Retained Earnings

repayment of principal at some predetermined date.

giaariRa sHars:
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Cost of Retained Earnings

D
K,=( +g)(1—t) (1 — )
NP ,

or K =K _1([{1—8 (1 —0b)
D =Expected Dividend
g = growth rate

NP = Net Proceeds

t = Tax Rate

b =Cost of Purchasing new securities or brokerage costs

K = rate of return availabe to shareholde rs



Example: A firm’'s K_ (retum available to

shareholders) is 15%, the average tax rate of
shareholders is 409% and it is expected that 29
brokerage cost that shareholders will have to pay
while investing their dividends in altemative
securities. What is the cost of retained earnings?

D
— <+ g 1 =1 3 —0)
NP

— K _ (1 —1 (1 —b)

=15% (1 —0.49) (1 —0.02)

=15% x 0.6 x D98 —= 8.82%



Question ::
Who among the following developed the
technique of Management by Exception?/

RAaEalEaa A 9 a4 s1gares =Z1=1 gsasr9 <hr
dJah-tap Aaaa 2

(OJoseph L. Massie/STIOW™w ot a3

OlLester R. Bittel/dA%x IR fAgs

COL.F. Urwick/Taqwh Ifa<k

(OPeter F. Drucker/del Tt =<k




Question ::
Appointment of independent Directors is
the part of Corporate Governance as per

the/<ad=s AE2rant &hfr RAg~s spRralRe Tada
ohr =T 8

(OsSEBI/3<

Olndian Companies Act/~RaT shu-t
IO IEEsEs)

(OGovernment of India/a1d 9Iahi

ORBI/3TRESTS




Question ::

A method for achieving maximum market
response from limited marketing
resources by reorganising differences in
the response characteristics of various
parts of the market is khown as/aITsITII <6
R&afa=s =y <y gaEear @livarst 3 siaz
=R g a sstah TiiAa [@gor=r S93rea=ar S
SrfSYerasa o gafafsHarTr arca s <hFY T=F
RAfassF=uaasImaATarArara

COMarket targeting/dITHTE A&ITahI0T

COMarket positioning/daTST1< <hT =afar

COMarket segmentation/aSTs1= fayarss=

COMarket strategy/daTrsT1< JoTHTar




Question ::

Who plays their significant role in
distribution of goods when they do not
sell to ultimate users or consumers?/#ATdA
<k faazor 7 IR agagoet 1 gAasT skl
Aaarar g S a9 ifaa Sgaahtassats ar

OORetailer/gaxT f@shar

COWholeseller/20ss f@skar

OMediator/trcc':q@I

COcCcommission agent/shEIRTT T3




Question ::
In Marketing Mix, which four P’s are

covered?/ATdhifaarT AaTm A, sl a3 IR P
AT 82

OProduct, Price, Place, promotion/3dr<g,
o, ¥OT4, Uai=Afa

OProduct, Price, Power, Promotion/3dTg,
oA, M=k, g1

OProduct, Price, Penetration, Promotion/

ST, I, UdRT, UaiAld

OProduct, Price, Positioning, Promotion/

ST, g™, ==ata, gar=Ata
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